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THOUGHT OF THE DAY
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STUDENT’S CORNER
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WORD OF THE DAY

PLUNGE

(NOUN): (गिरावट): fall

Synonyms: drop, tumble

Antonyms: rise

Example Sentence:

The central bank declared a 76% plunge in its

profits.
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WORD OF THE DAY IMAGE
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Q1. Slicing a cake between pieces (A)/ is a fun

tradition that many (B)/ newlyweds like to (C)/

incorporate into their ceremonies. (D)/ No Error

(E)

Ans.(a)

Sol. Replace ‘between’ by ‘into’. “Into” is

used to show when a person or thing is

changing from one form or condition to

another:
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Q2. She had stayed up (A)/ all night because (B)/

she had received (C)/ bad news. (D)/ No error. (E)

Ans.(a)

Sol. The past perfect tense in a sentence or

conversation describes an event that happened in

the past before another event in the simple past

tense was completed in the past. Thus the correct

phrase should

be “She stayed up”.
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Q3. He as well as (A)/ his friends (B)/ were

going (C)/ for picnic.(D)/ No Error (E)

Ans.(c)

Sol. ‘were; should be replaced by ‘was’.

Words joined to a singular subject by

‘with’, ‘together with’, ‘in addition to’, ‘or’,

‘as well as’, ‘besides’ etc. The verb must

take place with the first subject of the

sentence.
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Q4. The coaching industry in India (A)/ plays a

pivotal role, (B)/ as it contributes significant (C)/

revenue to the education sector. (D)/ No Error (E)

Ans.(e)

Sol. The sentence is grammatically

correct.
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Q5. Everything is funny, as long as it is

happening too somebody else.

(a) has been happening for

(b) is happening to

(c) was happening too

(d) could have happened to

(e) No improvement required

Ans.(b)

Sol. Replace “too” with “to”
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Q6. They recommend this book even though

they himself had never read it.

(a) they themselves had

(b) they themself has

(c) it itself had

(d) one oneself has

(e) No improvement required

Ans.(a) the correct phrase is “they

themselves had”. Thus, option (a) is

correct.
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Q7. This is the house that Jack built it.

(a) that Jack is building it

(b) Which Jack built it

(c) whom Jack built

(d) that Jack built

(e) No improvement required

Ans.(d)

Sol. The relative pronoun is the subject/object of

the relative clause, so we do not repeat the

subject/object, Here, that is the object of built, so

we don't need ‘it’.
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Q8. In no way do I agree with what you're

saying.

(a) In no way I do

(b) In no way I don’t

(c) No way I don’t

(d) Do I in no way

(e) No improvement required

Ans.(e)

Sol. The given sentence is grammatically correct.
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In each of the questions given below a

sentence is given with three words in bold.

Choose the option which gives the correct

sequence of these words to make the

sentence grammatically and contextually

correct.
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Q9. The U.P. ordinance not only conflict(A)

guaranteed fundamental rights but is also in

violates(B) with existing(C) personal laws

(a) ABC

(b) BAC

(c) CAB

(d) ACB

(e) None of these

Ans.(b)

Sol. “BAC” is the correct sequence.
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Q10. The deficit (A) changes in the sector

brought in through the three laws have

aggravated (B) the

trust abrupt (C) of the government.

(a) ABC

(b) CAB

(c) BAC

(d) CBA

(e) None of theseAns.(d)

Sol. “CBA” is the correct sequence.
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Q11. The Supreme Court has been asking

States to reservation (A) quantifiable data to

justify (B) their levels of produce (C).

(a) None of these

(b) CAB

(c) ACB

(d) BCA

(e) CBA

Ans.(e)

Sol. “CBA” is the correct sequence.
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HOME WORK ANSWER
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I have so much reading that I can’t

keep up with the writing exercises.

A. follow

B. surpass

C. succeed

D. detach

E. All are Correct

HOME WORK
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